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Note : i)  Method of Answering the Question :- O ‘3 O (d)

i) Darken the circle with sketch pen.

English

Read the passage given below and answer the questions that follow :

THE PERILS OF HIGH BLOOD SUGAR

“When you eat, the carbohydrates in your food are turned into glucose

(sugar), which circulates in your bloodstream. Insulin, a hormone that’s
produced in your pancreas, lets your cells absorb the glucose from your
blood and uses it for the energy they need to function.

If you have type-2 diabetes, your body doesn’t respond quite as well to
insulin, so the unused sugar builds up in your bloodstream. When you
have prediabetes, you’re not fully reacting to your insulin, but your blood
sugar levels aren’t as high as they would be if you had full-fledged diabetes.

]

High blood sugar is dangerous because it harms your blood vessels by
lowering your level of nitric oxide, which keeps blood vessels open and
supple. The result is narrowing and stiffening of blood vessels, which can
lead to high blood pressure, blood vessel damage and may cause heart
disease as well as affect your vision, your kidneys and your ability to heal.
The damage to your blood vessels starts well before your blood sugar
reaches the level at which type-2 diabetes is diagnosed. That’s why doctors
are so keen on recognizing and treating pre-diabetes early - so you can
stop or slow down problems down the road.

Getting at least 30 minutes of exercise, eating low-cal, high-fibre nutritious
foods, cutting down stress, sleeping well and losing weight is the key to
managing the condition. “Your doctor will prescribe you medicines for
elevated blood glucose if the levels are not controlled in spite of adequate
dietary restrictions and exercise,” says Dr Binayak Sinha, consultant
endocrinologist at AMRI Hospitals, Kolkata. He also recommends that
people with prediabetes check their sugar levels once in three months and
an HbA1C blood-sugar test every six months.
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On the basis of your understanding of the above passage, complete the following
statements by choosing the correct options :

insulin is a kind of ... . Sl

a) carbohydrate b) glucose c) cell d) hormone.
sulin s produced Y ... o

a) pancreas. b) carbohydrate c) hormone d) glucose
The patients with type-2 diabetes do not respond MUch 10 ...............
a) sugar b) energy c) Full-fledged diabetes d) insulin
...................... keeps blood vessels open and supple

a) High blood sugar b) Nitric oxide

c) Blood pressure d) All of the above

Narrowing and stiffening of blood vessels can cause ........................ :

a) high blood pressure b) blood vessel damage

c) heart disease : d)  all of the above

Which of the following is not recommended for managing diabetic condition ?
a) Eating nutritious food b) Cutting down sleep

c) Cutting down stress d) Physical exercise

Fill in the blanks with appropriate form of verb :

e in this house since 2001.

a) liquid b) living c) has been living d) live
PRENOU him yesterday ?

a) call b) calls c) called d) calling

Choose the appropriate passive form of the following sentences :

He cut the wire

a) The wire is cut by him b) The wire was cut by him

c) The wire has cut by him d) The wire had been cut by him
Sit down

a) let down be sitted b) be seated

c) let be sit down d) do sit down
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Choose the synonym of the following words :
11. Omnious

a) auspicious b) inauspicious c) favourable d) sacred
12, Concord
a) disagree b) accord c) refuse d) deny

Choose the antonym of the following :
13. Hypothesis

a) Assumption b) Guess c) disdain
14. Hazard
a) safeguard b) peril c) menace

Choose the word that spelled correctly :

15. a) Execpt b) Excpet c) Except

B A Haemorage b) Haemorrhage c¢) Haemorrage

Fill in the blanks with suitable determiners :

T HONCE i sugar do you take ?

a)  more b) much c) many
180 1berais ............ bl s hope of his recovery

a) few b) some c) little

Fill in the blanks with appropriate preposition :

9. Rakestwe ... .. o make a row.

a) on b) to c) by
20. | would like to see you .................. Diwali.

a) on bt . in c) at

Choose the suitable word for following sentences :
21. A group of the trees |
a) flock b) groove c) herd

22. Government of the officials

a) aristocracy b) plutocracy c) bureaucray

d) conjecture

d) danger

d) Excpte

d) Hemoraise

d) most
d) ‘ least
d) in
d) to
d) pack

d) democracy
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e

259,

26,

21,

28.

29,

30.

Fill in the blanks with suitable modals :

e rather die than surrender.

a) could b) should c) might d) would
NoRne ... .o dare to enter in the prohibited area
a) will b) can c) should" d) could

Choose the meaning of the following idioms :

Bone of contention stands for
a) cause of smoothness b) cause of disturbance

c) cause of happiness d) cause of laziness

Swan's song' stands for

a) kin desire  b) passion c) aversion d) aloofness

Which one of the given options is the correct form of the sentences given below :

He said to me, "Did you not press the button e
a) He asked me that | did not press the button
b) He asked me if | had not pressed the button
c) He told me if | would not presss the button
d) He tells me that he did not press the button .
Which one of the following is correct sentence :
Handsome/does/that/handsome/is/one

a) Handsome is does handsome one

b) Handsome is one that does handsome

c) Handsome is one that handsome does

d) Handsome does that handsome is
Choose the appropriate literary device given below :
He is as innocent as lamb

a) metephor b) simile c) imagery d) alliteration

He is the Harish Chander of the age

a) simile b) metaphor c) alliteration d) paradox
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S2.

33.

34.

35.

Maths

If x = 1 is a common root of the equation ax? + ax + 3 = 0 and
x2+x+b = 0 then ab =

.

gfe x = 1 gaa 6901 ax2 + ax + 3 =0 T xX2+x+b =0 =1 TH
giem =X @ d ab =1 HE BN
a) 3 b) 3.5 c) 6 d) -3

If the equation x2 — bx + 1 = 0 does not possess real roots, then

afs femd ®HEOT x2 —bx + 1 = 0 B U awdfes @ 8 oar
al- -3 < h <3 b} 2 <b< 2
c) > 2 d) b < «~.2

The zeroes of the quadratic polynomial x2 + ax + a; a # O
a) cannot both be positive b) cannot both be negative
c) are always unequal d) are always equal

fgara HIROT x2 + ax + a;a = 0 & =W
a) o 9ATcHS @l B Hehd b) < XoTcHs &l & Tehd
c) HT STAT-3ET B d) W& §HE B

If one zero of the polynomial f(x) = 5x2 + 13x + kis reciprocal of the
other, than the value of k is

afs @@ f(x) = 5x2 + 13x + k T TH =W @ HT kA & o k
HH ghm-

a) 0 b) c) 6 d) 5

"
6

A solid piece of iron of dimensions 49 cm x 33 cm X 24 cm is
moulded into a sphere. The radius of sphere is

a) 21 cm b) 28 cm c) 36 cm d) None of these

e FT U 3 ZH3T a3 49 cm x 33cm X 24 cm 2 @l

a) 21 cm b) 28 cm c) 35 cm d) =9 ¥ 2 @8
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39,

40.

41.

The area of a circle whose area and circumference are numerically
equal, Is

a) 27 sq. units b) 6 sqg. units
c) 8r sq. units e 4x 86 Units
uF gd FrEwr SFwe 9 Ui SeaEl @6E 8 W aERe @
a) 2 = TR b) 6 = THE
c) 8n =t THE d) 4n =t e

If the volumes of two spheres are in the ratio 64 : 27. The ratio of
their surface areas is

afc Q TR B HEET 64 : 27 & AW A TS AR H NS @
ar i 2 hi 7.3 £-16 : 9 d)9:16

If ANABC ~ APQR such that ar (AABC) = 4 ar (APQR) ana B = 12
cm, then QR =

afs AABC ~ APQR = &. (AABC) = 4 &. (APQR) @1 BC = 12cm
@t QR Fr-°F ¢ -

a) 6 cm b) 8 cm c) 10 cm d) 9 cm

AABC is an isosceles triangle in which ,C = 90°. If AC = 6 cm,
then AB = :

AABC t% fg=rg Brqst @ R ,C = 90° & AC = 6cm @ AB =
o= 2
a) 6 cm b)6./3em- ¢l 2./ cm d) 4 /2cm

If two tangents inclined at an angle of 60° are drawn to a circle of
radius 3 cm, then length of each tangent is equal to

fe fEdt g9 fest Brew 3 @ @ ) i v et Tanett & s
FIT 60° T A TAEH T T@T B TS B0

a) %@cm b) 6 cm £)-3./3cm d) 3 cm

If radii of two concentric circles are 4 cm and 5 cm, then the length
of each chord of one circle which is tangent to the other circle is
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42.

43.

44.

45,

46.

47.

3 Gh=g gl B 4 & 7 5 A § | TH gA H A@ TAS e
R T ga W we T ¥ W o ?
a) 3cm b) 9 cm c) 6 cm d) 1 cm
If x = asecp and y =b tang@, then b?x? + a%y* =
afc x = asecg o y =btang @ b2x® + a?y? =
a) a*+b? b) a2 +b? c) ab d) ab?
Cos*A - Sin*A =
a) 2cos?A - 1 b) 2cos?A + 1
c) 2 sin?A - 1 d) 2sin?A + 1

If sing — cos@ = O, then the value of sin*g + cos?*g is
IfE sing - cosg = O, @ sin*g + cos*p
1 A
2 4
If cos99 = sing and 99 < 90°, then the value of tan6g is
af cos99 = sing & 99 < 90° & tan6g H HA &

3
a) 1 b) 2 c)

1
al- .3 - B c) 1 ,d) 0

From a well shuffled pack of playing cards, find the prbbability of
getting a numbered card

TF IS WE ¥ BEEH R T % B GEEEEd Ul ST S ek
2

) 1 b) = ) O d) =

- 18 7 13

In a simultaneous throw of a pair of dice, find the probability of
getting an even number on one and a multiple of 3 on the other

A TN FHY W UH U W T WS F g 9 3 S PER AH A
TiReT ®

11 1 5 25
) e o Moy gr ==

Bl ag 3 36 36
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48.

49.

90.

ol

52

D3,

54.

n
If the mean of first n natural numbers is 3 then n =

aﬁnﬁn.mﬁwﬁwm%%?ﬁnz

a) 5 b) 4 c) 9 d) 10
Xi_25
Ifu = 10 , Yfu; =20, T =100 then x = ..........ceee
X; — 25
e = '10 Stu=-20, 70 hen s = L
a) 23 b) 24 c) 25 d) 27

If the median of the data 6, 7, x — 2, x, 17, 20 written in ascending
order is 16, then x =

af o W R T 2@ 6,7, x - 2, x, 17, 20 W HEAF 16 R
W x-F uE R
a) 17 b) 156 c) 16 d) 18

The mode of a frequency distribution can be found graphically from
a) ‘Histogram b) Frequency polygon c) Ogive d) Frequency Curve
ﬁmmwwﬁw%m’wﬁﬁmﬁ%@a
fafy =1 7 @ :

a) fezomm b) emafd WS c) s wF d) I T

Sum of n terms of the series /2 + /8 + /18 + /32 + ........ is
Pfeffag st S n R A B ? /2 + /8 + /18 + /32 + nnnnn.
A b) 2n(n+1) . d) 1

2 : V2
The naxt iermofthe AP, 7, /o8, /B3 o .conees. is
ST, TR [T, 28, B3+ oeererasnvens F1 TN IS B
a) J70 b) /84 c) \/97 d) V112

The ratio in which the line segment joining p(x,, y,) and Q (x,, v,) is
divided by x — axis is
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p(x,, y,) T Q(x, v, = frey Gt T W x - 31er e o H
fyafra =ear & @' IO -

a  v,'Y, b} -y, : ¥, SR d) -x, : X,
oo The distance of the point (4, 7) from the y-axis is
g (4, 7) By W@
a) {65 b) 11 cld d) 4
b, If the centroid of the triangle formed by the points (a, b), (b, c) and
(c, a) is at the origin, them a@®> + b® + ¢® = ....ooovvviennn
g (a, b), (b, c), (c, a) 2T T STl RSt # S g g § Al @l
+ b3+ c® W AAE
a) abc b) 3abc c)a+b+c d) O
Bi. If the point (x, 4) lies on a circle whose centre is at origin and radius
16 B Then X = i e
afg R (x, 4) qa-?am%iwﬁ%ma%mns%,w%?ﬁ
X = '
a) +3 b) £5 c) O d =4
: : X ¥ ;
58. The area of the triangle formed by the line = s T 1 with the co-
ordinate axis is
X
@ §+%=1 mmﬁgaﬁmmﬂéﬁgamﬁawﬁ
a) ab b) 2ab c) %2ab d) %aab
59. If the system of equation kx — by = 2, 6x + 2y = 7 has no solution,
then k =
aﬁ:i@wwkk-Syzz,Gx+2y=7waﬁs‘zﬂq‘é‘f%ﬁkz
a) -10 b} =b c) -6 d) -15
60. The area of triangle formed by the lines x = 3,y = 4 and x = y is
a) ¥2sq. unit b) 1sq. unit c) 2sq. unit d) None of these
%@Tx=3,y=4ax=y§ma=rﬁawﬁ%rﬂmaﬂa%rqm
a) » = T b) 1 @t zFE c) 2 = zwE  d)FE & HE T
Set IT"
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fHindi
61. T@ifra Ug H 9T TARE-
T SW A W § | .
a) a9 b) feFaTasyoT c)  gfawioy d) 4

62. TEifsd g 1 &l ye-uR=/g Sdarsu-
U gEE e H w@Er § 0

a) AlFqarEes T3M, S, Usheer, TRl S
b) WEETEss HIM, S, The=, AUHIUT FRH
c) Siiqaresk H3M, SifeT, Tshaed, 3IUHUT HRH
d) Sifqaress 93, Qiooi, TshaeH, TSI HRE

" 63. Vg W 1 W qE R
a) SE b) W= ¢l T d) ™

64. o wrEl aE W -
a) AR b) &= c) e d g

65. ‘37T BH ToTT et T | S § ared Sdreu-

a) gara b) wHaR c) HEar=E d) 3ThRgarHA
66. T T8 T wEersd ® uRafaa s g

a) BH9 TET JE T b) ®HAR FRT & AT |
c) FuA & T WA d) & w= =@ T |
87. ‘og & T H arem Jdrsu-
a)  OEare" b) =FHaTA c) Fgara d) HgarA
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68. T UR X A Sl WS Segd-
‘FfeT A A R wee feEm o
a) 9iERoT 9Eg b) WIgFd A
c) figst A d E 9

69. IEY 3§ I P ST, S 3E® WA H or | TFiehd USRI HT AW

Eu-
a) = 3IUAEH b) ST I
c) Trafaswor Iuare d) ©FE STEE

70. T A Ihe | aF B R 98 8 2

8 © b) = c) TR d) d=
Computer
& What is shortcut key to save a file in MS Word ?
a) Ctrl + S b) Alt«+ S
¢}  Shift +5 d Ctrl + 2
1L MS-PowerPoint is the example of .....................
a) Graphic Software b) Multimedia Software
c) Presentation Software d) Audio Editing Software
i Which of the following software can't be categorized application
software ?
a) DBM b) MS-DOS c) SpreadSheet d) Word processing
74. The System Software that manages computer hardware, software
and resources is cailed
a) Operating System b) Utility Program
c) Language Program d) Application Program

Set 1l Xl - Proficiency Test - 11
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77,

78.

79,

80.

Which of the following type of software is MS-Windows ?
a) CUl b) MUI c) LUI d) GUI

The basic operation performed by a computer is ............ B
a) Storage and retrieval operations b) Logic operation

c) Arithmetic operations d) All of the above

Fallform ot RAMIS . s = s

a3
a) Read Access Memory b) Real Access Memory
c) Random Access Memory d) Random Access Management
Which one of the following is softcopy output device ?
a) Printer b) Monitor c¢) Mouse d) Keyboard
We access the World Wide Web Using ..................
a) Browser b) Instant messaging applications
c) High bandwidth d) Search enginé
Which of the following is correct format of E-mail address ?
a) name@website@info b) name@website.info
c) www.nameofwebsite.com d) name.website.com -

Set 1l
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Sl Why was 'Simon Commission' boycotted ?
a) Because it demanded separated electorates for Hindus & Muslims
b) Because there was no Indian member in it
c) Because it favoured the muslims over the Hindus
d) Because there was no British member in it
TEHET FHRE F AEERR FE g3 a1 2
a) FHih WA el IR gRoml @ o stenr-stem Fatem T
Eal |
b) F=ifF T HE ot IRAT Ge= T e
c) FEis 3EA Tgel H oo gReml w1 wmes fear e
d) Faits TOH g f fafew ge=m F&€ en
82. When did Mahatma Gandhi return to India from South Africa ?
TETCHT Tl SfRAUT STRIRT @ WRE % Wi o o
a) 1920 b) 1915 cr 1921 d) 1914
83. Which British officer open-fired at the Jallinwala Bagh massacre ?
a) Sir John Simon b)  Mount batten
c)  Montgomery d) General Dyer
SAFEE S g o BRE e sReER T Mol T ® ey fReu
_
a) | SE gEHEA b) TOREZAET
c) H=mEO d) Se BET
84. In which of the following Indian National Congress sessions was the
demand of 'Purna Swaraj' formalised in December 1929 ?
a) Madras Session b) Calcutta Session
c) Lahore Session d) Nagpur Session
SetIl_
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86.

87.

88.

89.

Wgozoﬁw@ﬂ@ﬂﬂﬂ%%@aﬁéﬁﬁﬁ@mﬁ’?ﬁm
Hr M A ?

a) I E N b) ot SAEETE
c) oM shEe d) AR STRERT

The Tropic of Cancer does not pass through which state of India ?

a) Rajasthan b) Chhatisgarh c) Tripura d) Odisha
wﬁ%@mﬁmmﬁzﬁwqﬁm% ?
a) T b) BAHE c) BT d) sfireem

Which one of the following lake is salt water lake ?

a) Sambhar Lake b) Dal Lake

c)  Wular Lake d) Gobind Sagar Lake
Wﬁﬁﬁﬁqﬁﬁamﬁqqﬁaﬁsﬁﬁ% 2

a) @ F b) A A c) TER FieA 4) Mfs arE e

Which one of the Peninsular rivers is called 'Dakshin Ganga' ?
a) The Mahanadi b) The Krishna

¢c) The Godavari d) The Tapi

S @ TeEdE A& Sk T FeARt & ?

g) HERA b) =HSM c) TRl d) @t

<

The Kangra and Kullu valley are located iN ...c.oooeeneeness state.
a) Uttrakhand b) Himachal Pradesh
v Jammu and Kashmir d) Uttar Pradesh
STEr BT ] HRL e g ° R @

In which industry limestone is used as basic raw material ?
a) Paper industry b)  Sugar industry
c) Textile industry d) Cement industry

Set I1
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90.

91.

=92.

93.

94.

mmﬁﬁwwsmq@a:mw%wﬁﬁmm

& 2

a) HE 3= b) = 3=
c) FUST 3= d) 4z 3=

Which one of the following is the highest quality of hard coal ?
al  Anthracite b) Bituminous c) Lignite d) Peat

Wﬁﬁmmmmmwwmép
a) UduRe b)  FEfFE ) REmE  4) e

When was the first successful textile mill established in India ?
Wﬂmmmmmwﬁaﬁmwm 2
a) 1851 b) 1852 c) 1853 d) 1854

Which one of the followmg state IS not connected with the Hazira,
Vijaipur and Jagdishpur (H.V.J.) Pipeline ?

a) . Madhya Pradesh b) Gujrat
c) Maharashtra d) Uttar Pradesh

ﬁ%ﬁﬁ'ﬁwmm,mwmmwé
| ST g W& & o

a) O gy b) TR
c) HERTZ d 3T gewr

Identify the deepest land locked and well protected port along the east coast?
a) Chennai b) Vishakhapatnam c) Paradip d) Tuticorin

ﬁ“ﬁﬁﬁmﬁww@nﬂﬁ I I G R BT T Cog e —
Bl TEEE HitT |

a) a=s b) feemETETy c) URTET d) FerpIT

What is the minimum age requirement to contest the election for Lok
Sabha ?

a) 25 years b) 28 years c) 30 years d) 35 years

SetIT
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95.

96.

97.

98.

29,

F#%Hﬂraﬂfgma'agﬁﬂﬁ‘%mz3uﬁamrEﬁ'ﬂrﬁﬁtswgi#?ﬁiérﬁ?m%ﬁ?
A b) 28 o c) 30 d d) 35 =

How many Fundamental Duties are there of Indian Citizens according 1o the
Indian Constitution ?

qRdE HEaE samﬂ‘wﬂﬁM‘qmﬁﬁﬁiﬁ el e Hife® AT T 2
s 8 b) 10 c) 11 d) 12

Which one is not included in the State List of the Constitution of India?

a) Police b) Law and Order c) Prison d) Passport

In how many states a political party must be a recognised party, to
become a National Political Party ?

a) 2 states b) 4 states c) 6 states d) 9 states

ﬁ$ﬁttﬁﬁﬁ%a§ezraﬁ1mi?x¥at?51rﬁﬁﬁ%a;aﬁraqﬁ‘#:ﬁHQiﬁq‘ﬁiﬁn
S - B e UL o =few 2 -

a) 2 T ® b) 4 Al H c) 6 T H d) o T=aAt |

In which field Professor Amartya Sen is famous for ?

a) Chemistry b) Geography

c) Economics d) Mathematics

Grar el WA SRE g § UHE 2

a) @A e b) oA c) TeeIEA d) T

Mirabai Chanu has registered India's first medal at the Tokyo Olympic
in which sporting event ?

a) Weightlifting b) Boxing
c) Wrestling d) Long Jump

Set 11
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Pandit Birju Maharaj, who passed away recently, was associated
with which dance ?

a) Bharatnatyam b) Kuchipudi
c) Mohini Aattam d) Kathak

%ﬁqm,ﬁqmaﬁwﬁéﬁwgaﬂ%i%mawﬁﬁé@
g > ;

al  WRaareag - b)  =fays
c) n‘r%ﬁraia\zq d) s
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